OPERACIONES COMBINADAS CON NATURALES

Resuelve las siguientes operaciones:
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) 3+ 5 (3-3)=

C)4+2[3+2(‘r‘*4ﬂ:
= G g [5—5] -

c:U ) (/15—-23 = {M-(”—}_g)] -

Q) (%“”)2 -4 =
f) &%3(4—%)“8’ -
- =3

%) 444 =A20:42 =
b\) INZ. + 44D =
L>ﬂ5.'(44f‘8>+35:(25~|%>:

Q@ Gt B=



o) 3o -4 (5+2) =

by 5+3 (8-6) =
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SOLUCIONES

)5+8H£Q—5+3f4—@+&i—4/
L) 3+5 (33 = 3+5 4 = 3+20=23
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o) 30 -4 (B+2) = 20-4.37 = Bv-28 = 2

b) 5+3 (3-¢)= 5+3-2= 54+6 = M

¢) BM-NrF= 5§+ = forF= 97

d) 2(2+3)-43 = 33 -43=21-12= ¥

¢) 2 [F+5)-B(q-4)= R.12-55 = - T
DHHE-5)13(3-3) = 4243 2= 3462 A
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